Elena Pavlíková Higher monotonicity properties of certain Sturm-Liouville functions

Archivum Mathematicum, Vol. 17 (1981), No. 3, 159--167

Persistent URL: http://dml.cz/dmlcz/107106

Terms of use:

© Masaryk University, 1981

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

ARCH. MATH. 3, SCRIPTA FAC. SCI. NAT. UJEP BRUNENSIS XVII: 159—168, 1981

HIGHER MONOTONICITY PROPERTIES OF CERTAIN STURM-LIOUVILLE FUNCTIONS

ELENA PAVLÍKOVÁ, Žilina (Received March 24, 1980)

1. INTRODUCTION AND NOTATION

In [1] there is derived a simple sufficient condition for the monotonicity of order n of the sequence of differences of consecutive zeros of linear combination of any solution and its first derivative of the differential equation

(q)
$$y'' + q(x)y = 0$$
 (' = $\frac{d}{dx}$)

in the interval (a, ∞) , where a is a real number.

In [4] there are given sufficient conditions for the monotonicity of the sequence of extremants (i.e. zeros of the 1-st derivative) of an arbitrary solution of the differential equation (q).

In this paper, using the first accompanying equation with regard to the basis α , β , where α , β are real numbers with the property $\alpha^2 + \beta^2 > 0$, we extend the abovementioned results from [1] and [4] to the function

 $\alpha y + \beta g(x) y',$

where y(x) is a solution of the equation

$$(g(x) y')' + f(x) y = 0.$$

Finally, we introduce certain applications of the derived results for Bessel functions.

In [2] M. Laitoch introduced the first accompanying equation (Q) towards the differential equation (q) with regard to the basis α , β in the form

(Q)
$$y'' + Q(x) y = 0,$$

where

(1_q)
$$Q(x) = q + \frac{\alpha\beta q'}{\alpha^2 + \beta^2 q} + \frac{1}{2} \frac{\beta^2 q''}{\alpha^2 + \beta^2 q} - \frac{3}{4} \frac{\beta^4 q'^2}{(\alpha^2 + \beta^2 q)^2}$$

under the assumption that $q(x) \in C_2$, q(x) > 0 for $x \in (a, \infty)$, and α , β are real numbers with the property $\alpha^2 + \beta^2 > 0$.

In [2] it is proved that if y(x) is a solution of (q), then the function

$$Y(x)=\frac{\alpha y+\beta y'}{\sqrt{\alpha^2+\beta^2 q(x)}},$$

is a solution of the differential equation (Q) and conversely, if Y(x) is any solution of (Q), then there exists a solution $\bar{y}(x)$ of the equation (q) such that

$$\frac{\alpha \bar{y} + \beta \bar{y}'}{\sqrt{\alpha^2 + \beta^2 q(x)}} = Y(x).$$

A function f(x) is said to be *n*-times monotonic (or monotonic of order *n*) on an interval (a, ∞) if

(2)
$$(-1)^{i} f^{(i)}(x) \geq 0, \quad i = 0, 1, ..., n, \quad x \in (a, \infty).$$

For such a function we write $f(x) \in M_n(a, \infty)$. If strict inequality holds troughout (2), we write $f(x) \in M_n^*(a, \infty)$. We say that f(x) is completely monotonic on (a, ∞) if (2) holds for $n = \infty$.

A sequence $\{x_k\}_{k=1}^{\infty}$, denoted simply by $\{x_k\}$, is said to be n-times monotonic if

$$(-1)^{i} \Delta^{i} x_{k} \ge 0, \quad i = 0, 1, ..., n, \quad k = 1, 2, ...$$

Here

$$\triangle^{\circ} x_k = x_k, \Delta x_k = x_{k+1} - x_k, \dots, \Delta^n x_k = \triangle^{n-1} x_{k+1} - \triangle^{n-1} x_k.$$

For such a sequence we write $\{x_k\} \in M_n$. If strict inequality holds throughout (3), we srite $\{x_k\} \in M_n^*$. The sequence $\{x_k\}$ is called completely monotonic if (3) holds for $n = \infty$.

2. NEW BASIC RESULTS

In this section we consider the differential equation

(4)
$$(g(x) y')' + f(x) y = 0,$$

with f(x) and g(x) continuous, g(x) > 0 for $x \in (a, \infty)$ and $g(x) \in M_n(a, \infty)$, $n \ge 2$. The change of variable

 $\left(= \frac{d}{d\xi} \right)$

(5)
$$\xi = \int_{a}^{x} [g(t)]^{-1} dt,$$

where the integral is assumed convergent, transforms (4) into

(6)
$$\ddot{\eta} + \Phi(\xi) \eta = 0,$$

where $\eta(\xi) = y(x)$ and $\varphi(\xi) = f(x) g(x)$.

For $n \ge 2$, g(x) is non-increasing. Hence, the mapping (5) takes the x-interval (a, ∞) into the ξ -interval $(0, \infty)$.

Let $\varphi(\xi) \in C_2$, $\varphi(\xi) > 0$ on $(0, \infty)$. The first accompanying equation towards the differential equation (6) with regard to the basis α , β has the form

 $\ddot{n} + \Phi(\xi) n = 0,$ (7)

where $\Phi(\xi)$ is given by (1φ) .

Lemma 1. Let $n \ge 2$ be an integer. Let f(x), g(x), (f(x)g(x))' in (4) be positive on (a, ∞) and let g(x), (f(x)g(x))' belong to $M_n(a, \infty)$. Then for the carrier $\varphi(\xi)$ of the differential equation (6) we have

on $(0,\infty)$ $\varphi(\xi) > 0, \ \dot{\varphi}(\xi) > 0$ and $\dot{\varphi}(\xi) \in M_{\bullet}(0, \infty)$.

Proof. Consider a carrier $\varphi(\xi)$ of the equation (6). It is obvious that $\varphi(\xi) =$ f(x) g(x). Therefore, by hypotheses, we have $\varphi(\xi) > 0$ on $(0, \infty)$.

The second part of the assertion is proved in [3]. Theorem 3.1.

Lemma 2. Let the assumptions of Lemma 1 hold. Let α , β be real numbers such that $\alpha^2 + \beta^2 > 0$, $\alpha\beta \leq 0$. Then for the carrier $\Phi(\xi)$ of the first accompanying equation towards the differential equation (6) with regard to the basis α , β we have

 $\dot{\Phi}(\xi) > 0$ on $(0, \infty)$, $\dot{\Phi}(\xi) \in M_{n-2}(0, \infty)$ and $0 < \Phi(\infty) = \varphi(\infty) \leq \infty$.

Proof. Consider a carrier $\Phi(\xi)$ of the equation (7). Lemma 1 implies that $\dot{\phi}(\xi) > 0$ on $(0, \infty)$ and $\dot{\phi}(\xi) \in M_n(0, \infty)$. Since $\alpha^2 + \beta^2 > 0$ and $\dot{\phi}(\xi) \in M_n(0, \infty)$ we receive from ([5], Lemma 2.3), that $\frac{1}{\alpha^2 + \beta^2 \varphi(\xi)} \in M_{n+1}(0, \infty)$. The functions $\frac{\beta^2 \dot{\varphi}(\xi)}{\alpha^2 + \beta^2 \varphi(\xi)} \in M_n(0, \infty)$ because the sum and the product of two

functions of the class $M_n(0,\infty)$ are functions belonging again to the class $M_n(0,\infty)$ [5].

Therefore, using (5], Lemma 2.3), we have

$$\left[-\frac{3}{4}\frac{(\beta^2\dot{\varphi})^2}{(\alpha^2+\beta^2\varphi)^2}\right] \in M_{n-1}(0,\,\infty), \qquad \left[\frac{1}{2}\frac{\beta^2\ddot{\varphi}}{\alpha^2+\beta^2\varphi}\right] \in M_{n-2}(0,\,\infty)$$

and since $\alpha\beta \leq 0$ also

$$\left[\frac{\alpha\beta\varphi}{\alpha^2+\beta^2\varphi}\right]\in M_{n-1}(0,\,\infty).$$

This implies $\dot{\Phi}(\xi) \in M_{n-2}(0, \infty)$ and since $\dot{\phi}(\xi) > 0$ on $(0, \infty)$ we receive from $(1, \infty)$ that $\dot{\Phi}(\xi) > 0$ on $(0, \infty)$. From Lemma 1 and ([1], Lemma 1) we get $0 < \Phi(\infty) =$ $< \varphi(\infty) \leq \infty$ and the proof is complete.

Let us denote, for fixed $\lambda > -1$,

(9)
$$P_{k} = \int_{x_{k}}^{x_{k+1}} W(x) \frac{1}{g(x)} \left| \frac{\alpha y + \beta g(x) y'}{\sqrt{\alpha^{2} + \beta^{2} f(x) g(x)}} \right|^{\lambda} dx, \qquad k = 1, 2, ...,$$

where y(x) is an arbitrary solution of (4) and $\{x_k\}$ is a sequence of consecutive zeros of the function $\alpha z(x) + \beta g(x) z'(x)$, where z(x) is any solution of (4) which may or may not be linearly independent of y(x). The function W(x) is any sufficiently monotonic function.

Theorem 1. Let $n \ge 2$ be an integer and α , β be real numbers such that $\alpha^2 + \beta^2 > 0$, $\alpha\beta \le 0$. Let f(x), g(x), (f(x)g(x))' in (4) be positive on (a, ∞) , $g(x) \in M_n(a, \infty)$, $(f(x)g(x))' \in M_n(a, \infty)$ and let

(10) $W(x) > 0, \quad W(x) \in M_{n-2}(a, \infty), \quad x \in (a, \infty).$

Then for P_k defined by (9) there holds

$$(11) \qquad \qquad \{P_k\} \in M^*_{n-2}.$$

Proof. Let y(x), z(x) be solutions of the differential equation (4) and $\eta(\xi) = y(x)$, $\zeta(\xi) = z(x)$ be solutions of the equation (6). It follows from [2] that the functions

$$H(\xi) = \frac{\alpha \eta + \beta \dot{\eta}}{\sqrt{\alpha^2 + \beta^2 \varphi(\xi)}} = \frac{\alpha y + \beta g y'}{\sqrt{\alpha^2 + \beta^2 fg}},$$
$$Z(\xi) = \frac{\alpha \zeta + \beta \dot{\zeta}}{\sqrt{\alpha^2 + \beta^2 \varphi(\xi)}} = \frac{\alpha z + \beta g z'}{\sqrt{\alpha^2 + \beta^2 fg}},$$

are solutions of the equation (7).

By Lemma 2, we have $0 < \Phi(\infty) \leq \infty$. This shows that $\alpha z(x) + \beta g(x) z'(x)$ does indeed have an infinite sequence of zeros on (a, ∞) .

Using the change of variable (5) we get

$$\int_{x_{k}}^{x_{k+1}} W(x) \frac{1}{g(x)} \left| \frac{\alpha y + \beta g(x) y'}{\sqrt{\alpha^{2} + \beta^{2} f(x) g(x)}} \right|^{\lambda} dx = \int_{\xi_{k}}^{\xi_{k+1}} W(x(\xi)) \left| \frac{\alpha \eta + \beta \eta}{\sqrt{\alpha^{2} + \beta^{2} \varphi(\xi)}} \right|^{\lambda} d\xi,$$

where $\{\xi_k\}$ are consecutive zeros of $\alpha\zeta(\xi) + \beta\dot{\zeta}(\xi)$ corresponding, respectively, to consecutive zeros $\{x_k\}$ of $\alpha z(x) + \beta g(x) z'(x)$, here $\alpha\zeta(\xi) + \beta\dot{\zeta}(\xi) = \alpha z(x) + \beta g(x) z'(x)$.

By hypotheses, we have $W(x(\xi)) > 0$ on $(0, \infty)$. Since $W(x) \in M_{n-2}(a, \infty)$, using (8) and ([15], Lemma 2.3), we have $W(x(\xi)) \in M_{n-2}(0, \infty)$. By Lemma 2, $\dot{\Phi}(\xi) > 0$ on $(0, \infty)$ and $\dot{\Phi}(\xi) \in M_{n-2}(0, \infty)$. So, the conditions of ([3], Theorem 3.1) are fulfilled. Using this theorem we have

$$\{N_k\}\in M_{n-2}^*,$$

where N_k is defined by

$$N_{k} = \int_{t_{k}}^{t_{k+1}} W(x(\xi)) |H(\xi)|^{\lambda} d\xi, \quad \lambda > -1, \quad k = 1, 2, ...$$

Here $H(\xi)$ is the solution of (7) and $\{t_k\}$ denotes the sequence of consecutive zeros of the solution $Z(\xi)$ of (7).

Since $Z(\xi) \sqrt{\alpha^2 + \beta^2 \varphi(\xi)} = \alpha \xi(\xi) + \beta \xi(\xi)$, we have $\{t_k\} = \{\xi_k\}$. Hence it follows that

$$N_{k} = \int_{\xi_{k}}^{\xi_{k+1}} W(x(\xi)) \left| \frac{\alpha \eta + \beta \dot{\eta}}{\sqrt{\alpha^{2} + \beta^{2} \varphi(\xi)}} \right|^{\lambda} \mathrm{d}\xi = P_{k},$$

so that (11) holds, and the theorem is proved.

Corollary 1. Let the conditions of Theorem 1 are satisfied. Then

$$\left\{\int_{x_k}^{x_{k+1}} W(x) \mid \alpha y(x) + \beta g(x, y'(x)) \mid^{\lambda} \mathrm{d}x\right\} \in M_{n-2}^*,$$

for $\lambda \in (-1, 0)$, k = 1, 2, ...

Proof of this corollary follows directly from Theorem 1. (11) remains valid when W(x) is replaced by

$$W(x) g(x) (\alpha^2 + \beta^2 f(x) g(x))^{\lambda/2}, \qquad \lambda \in (-1, 0),$$

since the last function belongs to $M_{n-2}(a, \infty)$.

If we put W(x) = 1, we receive

Corollary 2. Under the hypotheses of Theorem 1 we have

$$\{\int_{x_{k}}^{x_{k+1}} |\alpha y(x) + \beta g(x) y'(x)|^{\lambda} dx\} \in M_{n-2}^{*},$$

for $\lambda \in (-1, 0)$, k = 1, 2, ...

Remark 1. If in the above considerations we choose $\alpha = 1$, $\beta = 0$, then we obtain the results from [1] concerning the monotonicity of consecutive zeros of any arbitrary solution y(x) of the equation (4).

If we choose $\alpha = 0$, $\beta = 1$, then we obtain the results from [4] for the monotonicity of the sequence of extremants of an arbitrary solution of the equation (4).

3. APPLICATIONS TO BESSEL AND GENERALIZED AIRY FUNCTIONS

Throughout this section we suppose that α , β are real numbers such that $\alpha^2 + \beta^2 > 0$, $\alpha\beta \leq 0$.

1. Let $\mathfrak{C}_n(x)$ denote any Bessel (cylinder) function of order v, i.e. any nontrivial

solution of the Bessel equation

(12)
$$y'' + \frac{1}{x}y' + \left(1 - \frac{v^2}{x^2}\right)y = 0, \quad x \in (0, \infty)$$

Then the function

$$y(x) = x^{1/2} \mathfrak{E}_{\mathbf{v}}(x)$$

is a solution of the differential equation

(13)
$$y'' + \left(1 - \frac{v^2 - \frac{1}{4}}{x^2}\right)y = 0.$$

Let $\{a_{vk}\}$ denote the sequence of consecutive positive zeros of the function

$$\alpha x^{1/2} \mathfrak{E}_{\nu}(x) + \beta \big(x^{1/2} \mathfrak{E}_{\nu}(x) \big)'$$

and let $\{A_{vk}\}$ denote the analogous sequence of the function

$$\alpha x^{1/2} \overline{\mathfrak{G}}_{\nu}(x) + (\beta x^{1/2} \overline{\mathfrak{G}}_{\nu}(x))',$$

where $\overline{\mathbb{C}}_{v}(x)$ denotes any Bessel function of order v, possibly $\mathbb{C}_{v}(x)$ again.

Theorem 2. Let $n \ge 2$ be an integer, $v > \frac{1}{2}$ be an arbitrary number and $a = \left(v^2 - \frac{1}{4}\right)^{1/2}$. Let $W(x) > 0, \quad W(x) \in M_{n-2}(a, \infty), \quad x \in (a, \infty)$

and let R_{vk} be defined for $x \in (a, \infty)$ and $\lambda > -1$ by

(14)
$$R_{\nu k} = \int_{A_{\nu k}}^{A_{\nu k}+1} W(x) \left| \frac{\alpha x^{1/2} \mathfrak{E}_{\nu}(x) + \beta (x^{1/2} \mathfrak{E}_{\nu}(x))'}{\sqrt{\alpha^2 + \beta^2 \left(x^2 - \nu^2 + \frac{1}{4}\right) x^{-2}}} \right|^{\lambda} dx, \quad k = 1, 2, ...$$

Let p be the smallest integer satisfying $a \leq A_{vp}$. Then

$$(15) \qquad \qquad \{R_{\nu k}\}_{k=p}^{\infty} \in M_{n-2}^{*}.$$

Proof. In the case of the differential equation (13) the coefficients f(x) and g(x) have the form

$$f(x) = 1 - \left(v^2 - \frac{1}{4}\right)x^{-2}$$
 and $g(x) = 1$.

It is obvious that $f'(x) \in M^*_{\infty}(a, \infty)$ and f(a) = 0. This implies f(x) > 0 for $x \in (a, \infty)$.

The expression P_k defined in (9) is of the form (14). So, the assertion (15) follows immediately from Theorem 1.

Remark 2. Let $v > \frac{1}{2}$ be an arbitrary number and $a = \left(v^2 - \frac{1}{4}\right)^{1/2}$. Let

W(x) > 0, $W(x) \in M_{\infty}(a, \infty),$ $x \in (a, \infty),$

and let R_{vk} be defined by (14). Then

$$\{R_{\mathsf{v}\mathsf{k}}\}_{\mathsf{k}=p}^{\infty}\in M_{\infty}^{*}.$$

The remark is the case $n = \infty$ in Theorem 2.

Corollary 3. Under the hypotheses of Theorem 2 we have

$$\{\int_{A_{\nu,k}}^{A_{\nu,k+1}} W(x) \mid \alpha x^{1/2} \mathfrak{E}_{\nu}(x) + \beta (x^{1/2} \mathfrak{E}_{\nu}(x))' \mid^{\lambda} dx\}_{k=p}^{\infty} \in M_{n-1}^{*},$$

for some fixed $\lambda \in (-1, 0)$.

The proof of this corollary follows from Theorem 2. The assertion (15) remains valid when W(x) is replaced by

$$W(x)\left(\alpha^{2}+\beta^{2}\left(x^{2}-v^{2}+\frac{1}{4}\right)x^{-2}\right)^{1/2}, \quad \lambda \in (-1,0),$$

since the last function belongs to $M_{n-2}(a, \infty)$.

Remark 3. As a direct conclusion of Theorem 2 we get

(16)
$$\{(a_{\nu,k+1})^{\gamma}-(a_{\nu k})^{\gamma}\}_{k=p}^{\infty}\in M_{\infty}^{*}, \quad 0<\gamma\leq 1,$$

(17)
$$\left\{ \lg \frac{a_{\nu,k+1}}{a_{\nu k}} \right\}_{k=p}^{\infty} \in M_{\infty}^{*}.$$

The assertion (16) is an immediate consequence of Theorem 2 with $\overline{\mathfrak{E}}_{\mathbf{v}}(x) \equiv \mathfrak{C}_{\mathbf{v}}(x)$ $\lambda = 0$ and $W(x) = \gamma x^{\gamma-1}$.

The assertion (17) follows from Theorem 2 if $\tilde{\mathfrak{E}}_{\nu}(x) = \mathfrak{C}_{\nu}(x)$, $\lambda = 0$ and $W(x) = x^{-1}$.

Remark 4. Let the assumptions of Theorem 2 hold and let $\gamma > 0$. Then

(18)
$$\{(a_{\nu k})^{-\gamma}\}_{k=p}^{\infty} \in M_{\infty}^{*},$$

(19)
$$\{(\lg a_{vk})^{-\gamma}\}_{k=p}^{\infty} \in M_{\infty}^{*}, \quad a_{vp} > 1$$

$$[\exp(-\gamma a_{\nu k})]_{k=p}^{\infty} \in M_{\infty}^{*}$$

The assertion (18) follows from Theorem 2 if $\overline{\mathfrak{E}}_{\nu}(x) = \mathfrak{C}_{\nu}(x)$, $\lambda = 0$ and W(x) = -w'(x), where $w(x) = x^{-\nu}$.

It is obvious that $w(x) \in M^*_{\infty}(a, \infty)$. Therefore we have $\triangle^{\circ} w(a_{\nu k}) > 0$, k = p, p + 1, ... Moreover,

$$-\Delta w(a_{vk}) = \int_{a_{vk}}^{a_{vk}+1} \left[-w'(x)\right] \mathrm{d}x,$$

and, since $-w'(x) \in M^*_{\infty}(a, \infty)$, we can see, from Theorem 2, that

$$\{-\Delta w(a_{vk})\}_{k=p}^{\infty} \in M_{\infty}^{*}$$

This implies

$$\{w(a_{vk})\}_{k=p}^{\infty}\in M_{\infty}^{*}.$$

Thus (18) holds.

The assertions (19) and (20) follow from Theorem 2 if

 $\overline{\mathfrak{G}}_{\mathfrak{p}}(x) = \mathfrak{C}_{\mathfrak{p}}(x), \quad \lambda = 0, \quad W(x) = -\left[(\lg x)^{-\gamma}\right]' \text{ and } W(x) = -\left[e^{-\gamma x}\right]',$ respectively.

2. We apply Theorem 1 to certain generalized Airy functions, i.e., solutions of (21) $y'' + \delta^2 x^{2\delta-2} y = 0$,

where $1 < \delta \leq \frac{3}{2}$. The solutions y(x) of (21) are expressible in terms of cylinder functions:

$$y(x) = x^{1/2} \mathfrak{E}_{1/(2\delta)}(x^{\delta}).$$

Let $\{b_{\nu k}\}$ denote the sequence of consecutive positive zeros of the function

$$\alpha x^{1/2} \mathfrak{E}_{1/(2\delta)}(x^{\delta}) + \beta \big(x^{1/2} \mathfrak{E}_{1/(2\delta)}(x^{\delta}) \big)'$$

and let $\{B_{vk}\}$ denote the analogous sequence of the function

$$\alpha x^{1/2} \overline{\mathfrak{E}}_{1/(2\delta)}(x^{\delta}) + \beta \big(x^{1/2} \overline{\mathfrak{E}}_{1/(2\delta)}(x^{\delta}) \big)',$$

where $\overline{\mathfrak{G}}_{\nu}(x)$ denotes any Bessel function of order ν , possibly $\mathfrak{C}_{\nu}(x)$ again.

Theorem 3. Let $n \ge 2$ be an integer and $1 < \delta \le \frac{3}{2}$ be an arbitrary number. Let

W(x) > 0, $W(x) \in M_{n-2}(a, \infty)$, $x \in (a, \infty)$, $0 \le a < B_{\nu_1}$, and let $N_{\delta k}$ be defined for $x \in (a, \infty)$ and $\lambda > -1$ by

(22)
$$N_{\delta k} = \int_{2_{\delta k}}^{2_{\delta, k+1}} W(x) \left| \frac{\alpha x^{1/2} \mathfrak{E}_{1/(2\delta)}(x^{\delta}) + \beta (x(1/2 \mathfrak{E}_{1/(2\delta)}(x^{\delta}))'}{\sqrt{\alpha^2 + \beta^2 \delta^2 x^{2\delta - 2}}} \right|^{\lambda} dx,$$

$$k = 1, 2, ...$$

Then

$$\{N_{\delta k}\} \in M_{n-2}^*.$$

Proof. The assertion (23) is an immediate consequence of Theorem 1, applied to the equation (4) with

$$f(x) = \delta^2 x^{2\delta-2}$$
 and $g(x) = 1$.

It is obvious that f(x) > 0 on (a, ∞) and $f'(x) \in M^*_{\infty}(a, \infty)$. The expression P_k defined in (9) is of the form (22), so that (23) holds and the theorem is proved.

Remark 5. Let $1 < \delta \leq \frac{3}{2}$ be an arbitrary number. Let

W(x) > 0, $W(x) \in M_{\infty}(a, \infty)$, $x \in (a, \infty)$, $0 \le a < B_{v1}$, and let N_{ak} be defined by (22). Then

 $\{N_{\delta k}\} \in M_{\infty}^*.$

Rhe remark is the case $n = \infty$ in Theorem 3.

Corollary 4. Under the hypotheses of Theorem 3 we have

$$\int_{B_{\delta k}}^{B_{\delta k}+1} |\alpha x^{1/2} \mathfrak{E}_{1/(2\delta)}(x^{\delta}) + \beta (x^{1/2} \mathfrak{E}_{1/(2\delta)}(x^{\delta}))'|^{\lambda} dx \} \in M_{n-2}^{*},$$

for some fixed $\lambda \in (-1, 0)$.

Proof. In Theorem 3, we set

$$W(x) = (\alpha^2 + \beta^2 \delta^2 x^{2\delta-2})^{\lambda/2}, \quad \lambda \in (-1, 0).$$

Remark 6. As a direct conclusion of Theorem 3 we get

(24)
$$\{(b_{\delta,k+1})^{\gamma}-(b_{\delta k})^{\gamma}\}\in M_{\infty}^{*}, \quad 0<\gamma<1,$$

(25)
$$\left\{ \lg \frac{b_{\delta,k+1}}{b_{\delta k}} \right\} \in M_{\infty}^*,$$

(26)
$$\{(b_{\delta k})^{-\gamma}\} \in M_{\infty}^*, \qquad \gamma > 0,$$

(27)
$$\{(\lg b_{\delta k})^{-\gamma}\} \in M_{\infty}^*, \qquad \gamma > 0, \qquad b_{\delta k} > 1,$$

(28)
$$\{\exp\left(-\gamma b_{\delta k}\right)\} \in M_{\infty}^{*}, \qquad \gamma > 0$$

The proof is quite similar to the proof of Remark 3.

REFERENCES

- [1] Háčik, M.: Contribution to the monotonicity of the sequence of zero points of integrals of the differential equation y'' + q(t)y = 0 with regard to the basis α , β , Arch. Math. 8, Brno, (1972), 79–83.
- [2] Laitoch, M.: L'équation associée dans la théorie des transformations des équations différentielles du second ordre, Acta Univ. Palack. Olomucensis, TOM 12 (1963), 45-62.
- [3] Lorch, L., Muldon, M., Szego, P.: Higher monotonicity properties of certain Sturm Liouville functions. IV, Canad. Journal of Math., XXIV (1972), 349-368.
- [4] Vosmanský, J.: The monotonicity of extremants of integrals of the differential equation y'' + q(t)y = 0, Arch. Math. 2, Brno, (1966), 105–111.
- [5] Vosmanský, J.: Certain higher monotonicity properties of i-th derivatives of solutions of y'' + a(t) y' + b(t) y = 0, Arch. Math. 2, Brno, (1974), 87–102.

E. Pavlíková 010 00 Žilina, Hliny 722 Czechoslovakia